
108 i.18

28

680

70

25.4

41

Cod.304564504
Staffa di supporto parafango

080183001

Riduzione

Rinforzo
saldato

Rinforzo
saldato

interna

cod.200297

flangiati
2 Dadi M6

De.33 di.25,3 h.4

300172504

3 Viti T.E. flangiate
M8x25

2 Dadi M8
flangiati

Vite T.E. flangiata
M8x35

Guarnizione spirotalica

2 Distanziali in ALL.
De.20 Di.8,5 h.5

A

e.28

32

25

sp.5
7.5

BETAMOTOR ARK ('96/'03 - liquid cooled)
BETAMOTOR QUADRA ('96/'99) - 

Art.7483    Silenziatore HAND MADE "GP" per

MALAGUTI F 15 FIREFOX ('96/'98) - 

Vista da "A"
Flangia "96A"


